SmallRig

HawkLock Quick Release Cage Kit
for Sony FX3/FX30

REFX3 / FX30RERIFARIEEH

Operating Instruction / 12F153|




Thank you for purchasing SmallRig's product.
RREEIESE SmallRig 7=,

Please read this Operating Instruction carefully.
ERAFRZE, BFREREES.

Please follow the safety warnings.
WERMAEESRTTEEERRFESINMERES.

Specifications / RS

W 4830
Product Dimensions 49 x30x22in
PRRY 124.8 x 77,5 x 55.8mm
Product Weight 4.0+0.20z
FRES 116.0  5.0g
Material(s) Aluminum Alloy, Stainless Steel, Silicone
EEHMR A, REM. B
NATO Rail For XLR Handle x 1 XLR Handle Extension x 1
In the Box X RFAABS X RFHFER S
axEe M4 Screw x2  Allen Wrench x2
M4SRLL NARF
Guarantee Card x1  Operating Instruction x 1
RiE+F #AIETES|
XLR Handle Extension Locking Part x1
XLRFHFEA RN
W 4770
Product Dimensions 6.3 x4.0x2.6in
F@RT 160.0 x 101.2 x 66.2mm
Product Weight 7.3+0.20z
FRES 208.0 + 5.0g
Material(s) Aluminum Alloy, Stainless Steel, Silicone
227004 RE®. ABEW. BER
U-shaped Cage x1 1/4"-20 Screw x2
In the Box U R 1/4"-208342.
HDMI Cable Clamp  x 1 Top Plate (NATORail)  x 1
axER HDMIZk T
Guarantee Card x1 Operating Instruction  x 1
RiEE BIEESI




W 4771

Product Dimensions
PR

6.3 x40x 49in
160.0 x 101.2 x 124.8mm

Product Weight 11.4+0.20z
FRES 3230+ 5.0g
) Aluminum Alloy, Stainless Steel, Silicone,PU Leather,

Material(s) Microfiber Leather

EEHMR RA®. REM. BR. PU. BAF
U-shaped Cage x1 Hand Strap x1
UBHRRIE Fhr
HDMI Cable Clamp x1  Top Plate (NATO Rail) x 1
HDMI%;3k TR
NATO Rail For XLR handle  x 1 XLR Handle Extension x 1

In the Box XLRFHAAEE XURFHAELA

axEe 1/4"-20 Screw x2 M4 Screw x2
1/4'-204842 MasgLL
Allen Wrench x2  Operating Instruction x 1
NIRRT HBAETES
Guarantee Card x1  XLRHandle Extension x 1
12EE Locking Part

XURFARFEA R
* Compatibility / & M:

4830 Sony FX3 / FX30 (ZfFX3 / FX30)
4770 Sony FX3 / FX30 (Z/2FX3 / FX30)
4771 Sony FX3/ FX30 XLR Handle (Z2/2FX3 / FX30 XLREH)

* BARSEIMERE, USMNE, BASTE.
Specifications subject to change without prior notice. Please refer to the physical
product for the most up-to-date information.




Product Details / F@R N3

@ 1/4"-20 Threaded Hole
1/4"-20 88503,

@ 1/4"-20 Locating Hole
V/4"-20 477l

® 3/8"-16 Threaded Hole
3/8'- 16884071,

® ARRI 3/8"-16 Locating Hole
FIsEEALAL

® Cold Shoe
b3

© NATO Rail
B

@ Strap Slot
B/ppmEd

Arca-Swiss Plate
Pl RAEREAR

@© QD Socket
QDO

@© Dual Head Wrench
LIRF




Cage Installation / i RIER &S

* The package does not
include the camera

*ENNEESE

*ENNEESE

"+ The package does not
include the camera




* The package does not
include the camera

*HENNEERE

Battery Replacement / B35t 5 i

* The package does not

include the camera.

*HENNEERE




HDMI Cable Clamp Installation Instruction
HDMIZRZE LR

> * The package does not
include the camera.

 AnEEsn

* The package does not
include the camera

NS ESE




Extension Mount Plate Kit Installation Instruction
XLRFHERZEIREHRESE

* The package does not
include the camera

*ENNSESE

* The package does not
include the camera

NS ES Y




Hand Strap Installation Instruction
FHHERRSE




Manufacturer: Shenzhen Legi Innovation Co., Ltd.

Add: Rooms 103, 501 and 601, Building 5, Fenghe Industrial Park, Nos. 1301-50
Guanguang Road, Longhua District, Shenzhen, Guangdong, China.

FHER: RYMRHEEFRBBIRAT

ol PERERIHREXREEST B XML 1301-50 SFFA TR
"5 54103, 501, 601

Consignor: Shenzhen LC Co., Ltd
Add: Rooms 602, Building 5, Fenghe Industrial Park, No. 1301-50 Guanguang Road,
Xinlan Community, Guanlan Street, Longhua District, Shenzhen, Guangdong, China

EEEORIHRERRERAS
otk PERERINHREXWREERT B XMW 1301-50 SEMTILE
I F5 5 1% 602

HATHRAE: GB/T 26572-2011 LQ-P1333-18

RoHS (€ ® & &
QEME I & T ...

Séparez Jes éléments avant de trier = \lade in China




